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= log[Y,]

Llchlarl D65, Y —720 Y=4.5

=const

XYZ,=95.04,100.0, 108.89 —~74 Parameter: L TAr=L* 507 XYZ,=96.42,100.0, 82.49 —74 Parameter: L TAr L* 507
A,=256,-a,) Y I Lipp &Name | 50 TAr : A= 256,-3,) Y I L*7ar & Name TAr :
B,=25p,-b,)Y 1 Y=Yn8, B,=25p,-b,)Y 1 Y,=Y/18,
32 aza[(x-X)/w 7bc L =Lr - ! 3 =3, [ (X=X:) /Y] 7 -50 !
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A =50 + 50[&+e/[e* +e]
Y = /15 = log[Y,]
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Farbenraum (C,g . L* m)

L¥ =50 + 50[&+e J[e"+¢']
Y,=Y/18, x= log[Y,]

LIChKar\ P40, Y 72 O Yy 4 5
2004 266 0508 035 oo

6197 508 0.468 0.491576
36.97 505 0281 0.631540

N

A 2 B CuaMues Vi Ve Vor Mrur L
0661 431 209 480 25 161 108 114 1:
029419 455 45587 344 329 337 3
0518 -411 245 47.9 149 2,05 17.2 17.9 1
0482 -431 209 48.0 205 221 19.3 20.0 1
2649 -19 455 45.5 267 0.38 ~1628.9181D.
0601 411 -24547.9 329 177 132 138 1
001 00 00 00 0 40 379 388 34
001 00 00 00 180 025 -24-B424-26.
001 00 00 00 180 10 -0.4 00 0,

2 b
4931.311 -0.047
4680.729 -0.042
5400.271 ~0.071
6000.283 -0.547
5760.601 -2.983
3187 39.470.426 02565400540 1.234 ~0.644

4189 0.217 0.381493
39.45 0,182 0.121468

46570379 0376 72% 0717 -0.336
291 0379 0376 4%  0.717 -0.336
11.64 0.379 0376 18% 0717 -0.336

Name Bereich X A A3 & A By Gyl ¥, Log Ly Uy Ly, [NameBereich x 2 & A B, G, Y, Log Lo Uy Ly
R, 567775 40.07 27.07 4.43 0559 037850 4891180 0052 0645 387 200 436 27 15 80" 96 L 5, 510775 3332 2834 337 0577 0377508 4911237 -0047 0645 410 200 457 25 157 102" 108 1
v* 493775 5069 61.31 851 042 0508570 463061 -0.044 0.304 -0.8 466 466 91 34 325 333 ||V 496775 5430 6117 593 0.447 0503573 468067 -0038 0291 20 445 445 87 339 324 333 |
G o 507 2047 3025 548 0236 062059 S22 007 0406 396 265 477 145 212 102 160 1[G, 496 570 1490 0E7 55 0759 06305 0023 0088 05 300 245 401 147 204 174 178 1
" 360_567 2636 41.77 7053 0184 0.303489 5960.244 -0.54 0418 38.7 -200 436 207 232 20.7 214 2]|C" 380570 23.06 405 53420197 0.346491 5980251 0527 0451 410 200 45.7 205 225 198 205 2
o0 380493 1473 753 66,450,166 0084463 570066 -282 247208  -466 46.6 271 041 ~162.616.( |50 380496 1199 767 50.86.0.17 0108468 5730552 -2.65 2323 -20 -44.5 445 267 042 ~16BAI.
Vi, 567_493 5096 30,56 66.48 0344 0.206535¢535 1.134 0,696 0,624 30.6 265 47.7 326 169 121 127 1|, 570496 5141 31.97 5089 0362 02385380538 1.146 -0.636 0577 30.0 245 461 327 177 133 139 1
/300 775 68.43 720 764 0312 0329 72% 0,616 -0.348 0.01 0.0 00 0 40 37.9 388 34 W 380775 6942 720 5939 0.345 0358 72% 0.657 -0.329 0.01 0.0 00 00 O 40 379 388 34
N,'380 775427 45 49 03120320 4% 0616 0348 001 00 00 00 180 025 -24-B4aresq|N; 380775433 45 371 0345 0356 4% 0657 -0.329 001 00 00 00 180 025 -24B42kEs
! 380775 171 180 196 0312 0329 18% 0616 0348 001 00 00 00 180 10 -04 00 00||uf 380775 17.35 180 14840345 0368 18% 0657 -0329 001 00 00 00 192 10 -04 00
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N, 380_775 4.94 4.49
U 380_775 19.77 17.99

2 A By Cgallg Y
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-0.045 0311 40

er Lo Ve
167 118 124 1
483 484 85 3.46 331 339 3
-0.078 0546 ~42.6 25.1 49.4 149 201 166 17.3 1
0595 0539 -46.6 -23.1 520 206 2.14 185 19.2 1
-3332 2986 40 -48.3 48.4 265 0.36 ~1975.31920.

0664 0606 42.6 -25.149.4 320 181 138 145 L

-0355 001 00 00 00 O 40 37.9 388 34
0355 001 00 00 00 180 0.25 ~24:B424-26.
-0355 001 00 00 00 180 1.0 -0.4 00 0|
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